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QA=
G=
AA=
LA=
LB=
DA=
DB=
e=
VA=
VKE=
AB=
LENGTH=
PB
SW

VB
2.00
742.37
0.89
1.00

REDUCER
0.00
0.00
0.00
0.00

0.02 M3/S
9,810.00 N/M3

0.02 M2
180.00 M
8.00 M
0.15 M
0.05 M
0.00 M
0.89 M/S
0.00 M2/S
0.00 M2
4.50 M
12500000 N/M2
8800 N/M3
PA PB/SW

223,584.66 1,420.45
233,982.90 1,420.45
223,569.08 1,420.45
223,570.62 1,420.45

FB
0.02
0.02
0.02
0.02

PIPE2
1,100,488,671.69
1,100,488,671.69
1,100,488,671.69
1,100,488,671.69

VA/2G QB
0.00 1,049.87

VB/2G
28.09

0.00 389,695.18 10,426.32

0.00 467.19
0.00 524.93

VB
742.37

12.50
14.04

% DIFF
100.00%

204,564,400.65 74136.93%

245,244 .93
275,556.11

-11.00%
0.00%

ZB
192.50
192.50
192.50
192.50

PIPE1
221,943.62
221,943.62
221,943.62
221,943.62



10.000000 FT QA= 0.044543 (FT3/s)
20.000000 FT QB= 0.022272 (FT3/s)
0.023330 FT2 KFILTER 1.85
0.010390 FT2 HA= 34 FT
0.172300 FT PA 57.5 N/FTA3
0.115000 FT
32.200000 FT/S~2
0.000150 FT
19.000000 FT
64,100.000000
Assume Assume
Iteratio QA
n (FT3/5) ReA (DA/e)1 fi fT1 NUM f2 (DB/e)2
0.04454 5.90E- 8.71E- ) 0.01000 1.30E-
1 3 03 04 0.0287 | 1.90E-01 289.4;13308 0 03
0.02227 2.95E- 8.71E- 1.19E+0 ) 0.04659 1.30E-
) 03 04 0.0253 0 266.03(’)0266 5 03
fT2 DEN Qs Re2 f2 %diff2 | PANEW | %diff2
(FT3/s) ° ?
1.90E-01 | 343.1932 | 0.022272 | 1.64E+03 | 0.0466 | 365.91%
1.19E+00 | 813.9753 1.85 1.37E+05 | 0.0466 0.00%




